
s. 29 – cv. 4 

a) 

 

 

 

 

 

 

 

 

 

 

b) Tomáš snědl 
7

20
 čokolády. 

c) Maruška snědla 
9

20
 čokolády. 

d) Tomáš s Maruškou snědli 
16

20
 čokolády. 

e) Na maminku a tatínka zbyly 
4

20
 čokolády. 

f) Maminka dostala 
2

20
 čokolády. 

g) Největší část čokolády snědla Maruška. 

 

s. 30 – cv. 6 

a) 1 𝑑𝑚 =  
1

10
 𝑚   b) 1 𝑐𝑚 =  

1

100
 𝑚 

 

s. 30 – cv. 7 

a) 
1

2
 𝑚 =  50 𝑐𝑚   b) 

1

4
 𝑚 =  25 𝑐𝑚 

 

s. 30 – cv. 8 

a) 1 𝑚𝑖𝑛 =  
1

60
 ℎ   b) 5 𝑚𝑖𝑛 =  

5

60
 ℎ 

 

s. 30 – cv. 9 

a) 
1

4
 ℎ =  15 𝑚𝑖𝑛   b) 

1

2
 ℎ =  30 𝑚𝑖𝑛 

 

s. 30 – cv. 10 

a) 
2

5
 𝑘𝑔 =  400 𝑔   b) 

1

100
 𝑘𝑔 =  10 𝑔 

 

s. 30 – cv. 11 

a) 500 𝑔 =  
500

1000
 𝑘𝑔 =

1

2
 𝑘𝑔  b) 750 𝑔 =  

750

1000
 𝑘𝑔 =  

3

4
 𝑘𝑔 

 

 

 

    

    

    

    

    


